21.1.21 ASHA'S SHOPPING TRIP WORKSHEET A ANSWER SHEET

A 5|0 1|/4+12 O

X 2|5 8 o

2|5 O 6+ 2 S

1 o O + | 2| 8 S
112 5|0 1

Asho spent £28.35

Asha soned £12.50 in December
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Asha hos £1.15 left
over i tHhe end




21.1.21 ASHA'S SHOPPING TRIP WORKSHEET B ANSWER SHEET
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Asha soned £25.65 in December Ashao spent £47.29
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2 35 0 Asha  has £10.66
Left over i Hre end

Asha saned £32.30 i Janunary
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21.1.21 CAR PARK PROBLEM ANSWER

We know thot 136 drivery poid with

o £1 coun and a SOp becauvse there

were 136 £1 cowns thoat muwst have
been paired wiHv o 5SOp: So- we hoave

to- fund owt how many SOp couns were

not poired withv o £1 con

12|20
-1 1|3
o |7 | 2

Eachhv driver that didwt poy withh o

£1 coun and a SOp wmuwst howe paid
withy Huee SOp consy: So- we dinide

owr answer by tHaree.

2 | 4

317 *2

So- 24 drwers wmwst howve poid for

thewr cor pork ticket witv thwee SOp-
coing




